S8 = B B = T\ SR 5

R < B > Dimensions

3-]AW ADJUSTMENT STEEL BODY SCROLL CHUCKS

R~ B > Dimensions

TK 2-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
O] SR\ 5R DB — MR 2EE

B G
|
K Eg
]
: CRER
AN
- =
XX
L M
#2 #% 38 > Specifications BSfiI/UNIT:mm
AU /44 e OISR BIEEEE Max. Gripping Diameter  $E&E
MODEL A B C D E F G H J K L M Max.Speed NI MfEiEE  Weight
/ SPEC. r.p.m.(min") O.D.Clamping 1.D.Clamping (k)
CT-06 167 75.5 130 147 45 12 3-M10x1.5P 65 22 28 10 3-M12x1.75P 4000 04~0160 048~0150 10.4
CT-07 193 85 155 172 58 12 3-M10x1.5P 75 24 285 11 3-M12x1.75P 3500 04~0180 056~0170 12.9
CT-09 233 92 190 210 70 12.5 3-M12x1.75P 85 28 33 12 3-M12x1.75P 2900 05~0220 062~0210 20.4
CT-10 275 98 230 250 89 12.5 3-M12x1.75P 98 30 38 12 3-M12x1.75P 2500 06~0260 070~0250 29.3
CT-12 310 111 260 285 105 14 3-M12x1.75P 110 32 45 14 3-M12x1.75P 2200 210~2300 086~0290 43.7

FCT 4-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS

o] 3 T\, & 58 BY PO T\ #HE 7% 22 5

R < B > Dimensions

agugagay

e

A
€=
K
4wl O g <
Q Q Ql Q
—EH _
—= F T ZREB{EIRH5R I AT -
— 2-jaw Steel Body only provide the powerful type
—BEE soft jaws.
L\
#R £% 38 > Specifications EEi/UNIT:mm
AU /384 EoiOiSE iBiEEEE Max. Gripping Diameter $E
MODEL A B C D E F G H J K L M Max.Speed IR MEEiEE Weight
/ SPEC. r.p.m.(min") O.D.Clamping I.D.Clamping (kg)
TKT-07 193 85 155 172 58 12 3-M10x1.5P 95 31 495 11 3-M12x1.75P 3500 2010~0180 070~0170 14.6
TKT-09 233 92 190 210 70 12.5 3-M12x1.75P 110 37 50 12 3-M12x1.75P 2900 012~0220 080~2210 22.4

KT 3-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS

o] SR\ 53R I B = TR &S

R~ B > Dimensions

R #% 38 > Specifications BSfiI/UNIT:mm
T ARRE BeOiER ILiEEE Max. Gripping Diameter 335
MODEL A B C D E F G H J K L M Max.Speed MR MEIEE  Weight
/ SPEC. rp.m.(min") O.D.Clamping 1.D.Clamping (kg)
FCT-07 193 85 155 172 58 12 3-M10x1.5P 75 24 285 11 3-M12x1.75P 3500 04~0180 056~0170 18.2
FCT-09 233 92 190 210 70 12.5 3-M12x1.75P 85 28 33 12 3-M12x1.75P 2900 05~0220 062~0210 20.7
FCT-10 275 98 230 250 89 12.5 3-M12x1.75P 98 30 38 12 3-M12x1.75P 2500 06~0260 070~0250 29.8
FCT-12 310 111 260 285 105 14 3-M12x1.75P 110 32 45 14 3-M12x1.75P 2200 210~0300 086~2290 44 .4

55 (FBEEEREFSIRE61H)

I_L_
e |43 o
Q Q) Q Q|
E REEH
F
I |
= Ky
L M
R £% 38 > Specifications EEi/UNIT:mm
BT /48 EoiOiSE iBIEEEE Max. Gripping Diameter 5E
MODEL A B C D E F G H J K L M Max.Speed NEAEIE miEiEiE Weight
/ SPEC. r.p.m.(min") O.D.Clamping I.D.Clamping (kg)
KT-06 167 75.5 130 147 45 12 3-M10x1.5P 68 26 39 10 3-M12x1.75P 4000 28~0160 955~0150 9.7
KT-07 193 85 155 172 58 12 3-M10x1.5P 82 28 43 11 3-M12x1.75P 3500 28~0180 062~0170 13.6
KT-09 233 92 190 210 70 12,5 3-M12x1.75P 93 32 51 12 3-M12x1.75P 2900 211~0220 970~0210 21.5
KT-10 275 98 230 250 89 12.5 3-M12x1.75P 102 35 54 12 3-M12x1.75P 2500 012~0260 280~0250 30.4
KT-12 310 111 260 285 105 14 3-M12x1.75P 118 40 58 14 3-M12x1.75P 2200 215~0300 290~0290 45.4

(For the precision standard, please refer to p.61)[56



F KT -JAW POWERFUL TYPE AD]USTMENT STEEL BODY CHUCKS
o] FATN 38 ) BP0 T S Ee S<0a &

-

-

F2 <t @il = Dimensions

HUNITmm

3
FoCiEE IR Max. Gripping Diameter  SSE

L M Max. Speed Rt | PO Welgh
rpmdmin'y  ©.0DClamping LO.Clamping {ke)

FKT-07 193 285 185 172 58 12 3-MIOx1.5P 82 28 43 11 3-Mi2x1.75F 3500 8-0180 ei2-a170 1441
FKT-08 233 82 1920 210 70 125 3-M12x1.75F 83 32 51 12 3-M12x1.75P 2800 211-220 af0-p210 a2
FKT-10 275 98 230 250 B9 125 3-M12a.75P 102 356 B4 12 3-Mi12x1.75F 2500 0120260 080-0250 335
FKT-f2 310 111 260285 105" 14 3M12x1.75F 118 40 53 14 3-Mi12x1.75F 2200 015~p300 090~p280 451

O.rower sorr JAWS
SRIJZEM

JR =t Il > Dimensions )

sy

o

] 5

¥R 45 3 = Specifications EERTUNIT:mm
H RS =

MODEL A B G D E F G H J K L M N Weignt

/ SPEC. (ke
S004Jaw 52 30 19 24 553  7.94 [ 14 1 3 g5 21 7 045
S005Jaw B2 35 24 az 12668 794  MBx1.25P 15 14 a5 ] 24 g 0.9
SO06Jaw 73 a7 26 381 1288 794 MBx185P 1745 14 35 3 25 ) 1.3
SO07Jaw 95 48 a 444 1288 784  M10x1.5P 253 7 as 3 34 11 2.6
SO09Jaw 110 48 a7 54 19.08 127 MI12X1.75P 28 19 4.2 3 34 13 3.8
SO12Jaw 125 54 4p 635 1003 127  MI2¢1.75F 3075 19 4.2 3 38 13 5.5
SO16Jaw 160 70 50 762 1903 127 M16x2P 418 25 ES. & 48 17 10.4
s020Jaw 1680 BO B5 762 18,03 127 M20x25P 418 a2 55 [ 58 21 -
SO25Jaw 160 BO 75 762  19.03 127 M20x25P 418 a2 5.5 [ 58 21 -



